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SECTION II: USAGE
Questions 28-53

Part A
Directions: This section consists of a number of incomplete statements, each of which has four

suggested completions. Select the word or phrase that best completes the sentence structurally

and logically.

08. UM =20 bt Al ECOL
(A) et28
(B) DX
(C) &tel
(D) #

29. ol|0otoll &0l dl
(A) =0l

(V]
11!
jm}

(C) 2Lt
(D) 2&dd
30. 28l Al, A4
(A)
(8)
(C)
(D) &
31. 1 otol= nokeld, _ S0Hd OrZLh
(A) 2L
(B) 2=
(C) otxIgt
(D) d=ut
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32. o= g= N8 s:=U
(A) Jt2
(B) AA=2
(C) 320
(D) =2X
33. Z0|® & ol 5=LIC
(A) 2|
(8) Zall
(C) e
(D) =
34. & siOICIZ & & £
(A) H-Z=0
(B) -2l
(C) ¥-z2=l
(D) H-ZE=l
35. 2 OIS s M =22 Yot 0Olcl
(A) HEE MO0 dHL.
(B) &2 XIHOF oHR.

(C) SEE FaHor .
(D) {IHE IO L.
36. OIXl L2/&0| 0| EOIHXIE CPRE
(A) &%ACH
(B) &Lk
(C) &1 UACH
(D) &AUCH
37. 1 stde2 Fa=s
(A)
() &
(C) =
(D) =

=13
&

mjo
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38. M X2 =2
(D) Hi<a,
(B) B,
(C) bH<ed,
(D) HHSIA,
polses . .,
(A) gitets, sttt

(B) AP A, Bt

(C) d=2Lint, &t

(D) gig +5, &L
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39.
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40, Q%So Hydlds Y

uy
o
fizd
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o
A

o
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=2
N
rr
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ol .

AIZE0| Libi&IC

(A) U2
(B) A=
(C) U=

, =X3l
, Xtedol

, Aol

(D) 2&dl, X3l

41. 02 M SFTHIHADL
(A) € 20l, 8 = UL
(B) == 20l, &1 HC
(C) == AHol, € = UL
(D) € 20l, &1 &

42. 1 Ot0l=
(A) atoIet otH, &
(B) Gt2A, &

(C) atxigt, &
(D) &2l fldHAM, =
43. 29%0/l= 2E WY FO0t SHAIL,
(A) OB0HME, U
(B) OHXIROHA, JH&
(C) DIXIRAHA, WA
(D) OBNAE, ItE

20/AXIe, XI22 H4-0l

EX FHsiCH Ciet ot RS
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44, U= 2580+ i8S & gUCL 235 UE0 o8 & LIt
(A) J22HA
(B) 1Lt
(C) HCHH
(D) HEA
45, XI= _ AE= 228 = MO 282 g=gLCh
(A) SIESS, A22
(B) 4243, A2E
(C) AsHs, N22
(D) 4248, Nn=2
46. DIl A1D
(A) 2, 2
(8) I, 8
(C)

P
oy

ALAHL.

Ol
=%

Dy
mo m

~~
O
S
o

(A) 2C
(B) StCk
(C) ATk
(D) ECt
48. QE0M SO0I20 &g _ AO00F 8t
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49. U9 #<0ii= 20tHE
(A) &, 2t AsLICH
(B) &, 2AsLICH
(C) &, ZNtoli
(D) &, LI

S2HE £0/J| fidH 2SS

FA&LIC

(B) 2& #sLIT
(C) O3 YAUASLICH
(D) r2UASLIC

(A)

51. DY OH&INI YHe 27 8

HIZ LICH
(A) &, JH, &
(B) M, &0I, H
Cc & & &
(D) M, &0I, S

, Atz 8t

e O oM. ..

o2

_ . ; HIEMR! B .

0l Mol 222

g mae
NEERCR
M JlEEe HEe 2=

Z2H EUE AU (52)
Hg XIHOF & OGIZE0l oA =

Oi0F &

2 A /X8 = UL

E 228 M R XL 4=
ag mot

Bt (53)

g Zolgt

&I§t AtOl2td

52 (A) St
(B) GIE A
(C) oiCIA.
(D) &2t

53. (A) =2
(B) 2H™
(C) or=2l
(D) OH&ILY

—END OF SECTION Il = =GO ON TO SECTIONIII -
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SECTION Ill: READING COMPREHENSION
Questions 54-80

Directions: Read the following texts carefully for comprehension. Each text is followed by two or

more qguestions or incomplete statements based on its content. Select the answer or completion

that is best according to the text and fill in the corresponding oval on the answer sheet.

Questions 54-56.

"SALEHE 0[O0k

oj2lolo Atateilt B2 HHSLICH NHRHE Sl 01

=02 2 100012 2gez FelysU.

X Kt

de|d HEE

ETAL Chd OICIOf

JbA:

$15

t 0l0FII =

]
O
0=

2

on

ol

13
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rr
M

54. What is this advertisement about?

(A) Video

(B) Book

(C) bvD

(D) Audio tape

55. What is the content?

(A) Myth

(B) Romance
(C) Mystery
(D) Exploration

56. Who is the main target?

(A) Adult
(B) Young adult
(C) Children

(D) Professional
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Questions 57-59.

OF 3AIS 2X= OHY ZOICH OIEY MFS XISCh OO #Jtotel 2REE HECHH

2 A2|2 21 HM)| IR0ICH £XE HY WY & 020/ A0IEE 102 0ld 0l E8HCH.
o & S0ls AHESDT QHUWIA 02018 Btstet SSHE SHRLL

& o1 J|2t0l 2K 612 TR 2 Al20las IEW SR

YEZ=SS ols2 '® I|='ct 220 N & AAE AEHEANAE & 3~5 Al 7Ot
OIE Y 0|220| 47.9%00 OI2CH. £X Oi0iLIE "0{2l0IXoll CiLi= otolel &7 &g
0140 QIE YIS 0I88H= 222 2D UCH XILIA B A2 AL XIZ0
MATbE 2F" 02tD EOIEUCH (FYLE 2016 28 22F 23)

57. What is the main topic?
(A) Increasing number of Web kids
(B) Early education through Internet
(C) Education—-minded mothers in Korea
(D) Infringement of copyright and Internet
58. According to above passage, what does Susie mother’s biggest concern?
(A) Loosing eyesight
(B) Social adaptability
(C) Lack of physical exercise
(D) Learning bad behavior
59 . According to the passage, which is true?
(A) Susie is using the Internet 2 hours everyday.
(B) Susie likes to use Internet sites for Kids.
(C) Summer is better season to use Internet.

(D) Parents have to pay a lot for the kids' web site.
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Questions 60-61.

S| A0IA E2lZ & i ALSE HE 20/ 8= 20t st L0l
ALRE FS R0 OS0H= UR0I0 78 MU HHE 2EE HE &4,
E0|2 OIS BIO FAS2E MOICH EF OHE URS0 dich 848 £501 e
ALI2E B A2 28 £2 0120 Xteiel FXE HS OHEEN S

60. What is the main idea in this phrase?
(A) Pine trees are useful.
(B) Pine trees grow fast.
(C) Pine trees are scarce.
(D) Pine trees have a long lifespan.
61. The best way to use the pine lumber is
(A) Building boat
(B) Making paper
(C) Making furniture
(D) Building house

Questions 62-63.

A= Eado S2AL0IUACH oS LA oitiU 22 =20ICh Wit S8tm 254
SouUS 019D AMEDIS WaEsis AIES BY I UE HIZ Zot F4 20ITH XIS U=
st J}EO JIEROZ AMEDIY £ XIHE JISBA E4H0 8 D0HSS CHAl Bt 42l
SO OHUSH Lis &4u0 22t d22 HiM 242 OILXIgH ZF BRI et S20/8 ZHIRICH
sAUO FOlsIAIE 252 HS2I0 W X410l A6t *#<otn #=SRE LOI0H

62. What were they celebrating yesterday?
(A) Brother—in—law's wedding anniversary.
(B) Sister—in —law's 60th birthday.
(C) Brother's 60th birthday.

(D) Sister's wedding anniversary.
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63. What did they give her for a gift?
(A) Bathroom supplies
(B) Cosmetics
(C) Clothes
(D) Jewelry
Questions 64-65.

SHiF= AIE R= A2 SOELICHL A S2 2H AIRDIE Hln L34 SOottUH
ANZS ®WSLCH =2 21 LSS ®XQ 20t MY Fotots A2 0felotoIse 2=
o1l |Ch MXLOIE OJRI0ISS Y22 29 OI2F AS ¥ & UL HKGEICD SLICH
QoL M2 AR B AS L2 HOIYLICH

64. What is the brother's hobby?

(A) Filming videos

(B) Developing film

(C) Taking pictures

(D) Watching movies
65. What is the brother's most favorite model?

(A) Flowers

(B) Children

(C) Trees

(D) People
Questions 66—67.
HE A TVOA ZIE <S89 FH 42>2 21 0t S852 A2 UE R0l 88 R
As 22 2 SIQUCH DXIE LS A0, RblE X0 2oil, J0ls & K0ICt £Xgol 8
N DES BUCH EB SSSS O3 X U2 MHEE MA S XA MX=
USIIXI2 &g 3D, Mdls &3 XIF2HI8 AE610f S XA
66. Where do the Swallows(XlItl) build their nest?

(A) In the tree

(B) Under the ground

(C) Under the eaves

(D) On the grass
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67. What material do the Magpie(?tXI) use to build their nest with?

(A) Dust

(B) Straw
(C) Grass
(D) Twigs

Questions 68-70.

€ = fc g€ ¥ R g g€

20l S2 €. <3 201 #e & HE &2 E8E
oicloicl "L OiCIOoICI BIF=L SARA HIFU
o A0 BXI. el sul HIFX. el f= HIFK.

68. What kind of writing is this?

(A) Poem
(B) Proverb
(C) Journal
(D) Riddle

69. What is the best title for this passage?

(A) Round Tray
(B) Mirror

(C) Full Moon
(D) Mountain

70. Which idea was NOT used in comparison?

(A) A round tray
(B) A mirror

(C) The day light

(D) An egg
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Questions 71-72.

2@ 282 3R &S

o= BMOIA 2RI A2t 22 M0 YOl Y2 A2 MOt OIMHRCH LSO
SHE a0 HISOXILDN 30 WO 2N & 818 KU g4+ & 25 Otdd 8tE
WD UEOSE O 318 UWe 20IACH 2 4212 TS0 S4YN Ofss RUATL

OFR a2t siofatkl UU=E 10l EX LCH LS WOF BIX OIQH5HCHD 2o OFAC

ujo

71. What style of writing is this?
(A) Letter
(B) Play
(C) Essay
(D) Journal

72. According to the passage, how did the author feel ?
(A) He felt sorry for not reconciling with Youngsoo.
(B) He was even more mad at Youngsoo.
(C) He wanted to fight with Youngsoo.

(D) He wanted to yell at Youngsoo.

Questions 73-74.

OIEBIAIR. M= DI=20IA S etm 18E eIt Me 1 ERH 8308 8322
1D USLICH He BH=2012 ®el YA S=23IA0 H 6t AaLIch D0 X 8=0

| LOIKIX D UOA A0 USLICH S5 Lats 2001 Ktelol ASLICH 8= Al
st ME W2 2siD AXIDH 20| & QHUSLICH 121 XF eX S0iE A5

Ch. DOIA SX SIas Mis MEXC CHE AR Q0IM L2 otaie & =X FSLICL HEA
Q50| Al20| SOIANR? F2 LYl AL dAFAL.

0

> O
C Mmoo Jg 4o
o Ooh

m e

Ol
e

73. According to the passage, which of the following is the correct description of this person?
(A) He teaches Korean at the university.
(B) He works for a Korean company.
(C) He is an American who married a Korean woman.

(D) He is a college student who is majoring in Korean.

20




74. What is this person's problem?
(A) It is difficult to get hired at a Korean company.
(B) Although he wants to study Korean, he doesn't know
the best method.
(C) His speaking skills in Korean are not improving.

(D) He is studying Korean in English.

Questions 75-76.

2

rir

=]
HO
o
Qo
0e
a
rr
-
I
un

F

A Q0|XIC JHE0| ML HHMCH 2FE Sle &00) ML 1= 22
OE D Ot SHS 202 S0 TANU 2AZS 28 TS DML Us 2dDI Hels ¢€8
QHOb MO DS HitD 80| SUACH AL g BHE X ZE0I2 SEHRHE 20U LU
oloi=X| DECt OHKtE 8 1% == HIRAIGL ‘& 22X SME 280/ OLIoH” SHAICH.

BlSAXIC FY 2@E SIRUALCL

75. What is the main idea of passage above?
(A)  Delicious luncheon
(B)  Kim-Chi making day
(C) Hard and busy day

(D) Family outing to restaurant

76. What did aunt do to help out?
(A) Threw away trash
(B) Dug out a hole in the ground
(C) Chopped vegetables
(D) Washed vegetables
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Questions 77-78.

st=g 92, =2, SE0HA S0/ 2D YE &= HE2s 2II8 KEthh 1996 & =ctlhE
AROZ =20 2550 AIRS 82 HES2350 98 HRH Jte BE2Z HULHHA S= AE0
X 8 0l 22 HS ML

st20} eIUeHol DR YEe 3N JME 2= FACE el SN BtFRek=
XDt 281=0l S0IA HIRT0 ZHEQ HAHNMK &S NN & H0I2E2 0l Sk
232l S L0 oHAsH)| ECHe 0 S A0IS) IR H0lA LiEtLHE SE0l CHol

A HEDX} St

si2= sAXOZ B0|E 2 FE HASS o 832 il SIIXNSD 22 AASOIUL
Oso 01|t BRE Lol = RS SHASH AR Tels S B OSE 2e

S22 = ARSHIHA 22 £+ JAs BH = OHOHX| QICH BIXIEF AL O 2 =252

(O
ol

ol
Il

H'I

OISZ QIGHA Bt=2 LH E AHIXSO0 B2HEB0N =2 S2ldl AFSHACHE AO0ITH 1 0=
=2 AR B= S2HES JIB S 4 UCL B2 FUHES = X FUHE ANZH
IS 0|8 HTZ WEN 4F6t UCH.

77.  What is this passage about?
(A) Korean cultural effect of soap operas and pop songs
(B) Growth of Korean cell phone businesses
(C) Intense competition among cell phone businesses

(D) Relationship between entertainers and cell phone

78. Which is the correct statement?
(A) Entertainment is such a big business that the profit is more than the profit of cell phone
businesses.
(B) Thanks to cell phones, Korean entertainers are becoming more famous.
(C) Thanks to Korean entertainers, people worldwide are getting interested in Korean
products.
(D) Even though the Korean entertainment business is big, the Chinese entertainment

business still has a great effect on it.
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Questions 79-80.

=S E[E A Al XIAHO0F & OIZR0 25101 L&SeASLCH RUES 8= S0
IS0 Q2 22 AIXIECEZ AFHE ACE, OlHE HEks 270t A

MBo| AZOZ Xi2| D UK AR Al XIHOFE OIR0l 1 SM8=8 MEX Rots A
Ct

>

HME, AFRFSS IS EXt EA0H0F St R
DOIR, HEASS ARSS 88 UStT
WAZIDF U2 SLCH SH2s, SUE ALZ2Z I8t Do &S0l deids RYUt. S
2 7 9 oA Se MO 01E Yails 2o 2 IS 018 + A= R

HE, HI= AFZS0l 20| 20t M3 S35t CiolE g 220t stXe XU ISeH

RO0|XI8 DXl Xt2| =0l OtF= gl S, =2 Xtalo JHRIF Q! 0[0FIJF ZE AR
SPIEE S35t A2 BI0E X @2 A 2L

S mSo EIINH BHS NIXs ZLYLCH 2Hal, XSHE0IL HA S8 8&86t] Ald&

79. What is the main topic of this passage?
(A) Disadvantage of cell phones
(B) Advantage of cell phones
(C) Etiquette for cell phone users

(D) General effect of cell phone businesses

80. What stage is this passage?
(A) Introduction
(B) Development
(C) Climax

(D) Conclusion

~THIS IS THE END OF THE TEST-
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